
 

 

      

 

 
  
  

   
   

MAT-064: MODULE 4 PRACTICE 
MULTIPLE CHOICE.  Choose the one alternative that best completes the statement or answers the question. 

Solve the equation for the indicated variable.
1) q - 3x = 5q + 1   for q 1) 

-3x - 1 B) 4q + 1 -3x - 1A) C) 1 D)
5 -3 4 

Solve the formula for the specified variable. 

2) F = 9 C + 32 for C 2)
5 

5 5 9 F - 32A) C = (F - 32) B) C = C) C = (F - 32) D) C = 
9 F - 32 5 9 

Is the following correspondence a function?
3) Domain Range 3) 







 

 
 

  
                

Graph the exponential function. 
16) y = 3x 

A) B) 

C) D) 

16) 

Solve. 
17) The amount of particulate matter left in solution during a filtering process is given by the 

equation P = 900(2)-0.8n, where n is the number of filtering steps. Find the amounts left for 
n = 0 and n = 5. (Round to the nearest whole number.)

A) 900, 14,400 B) 900, 56 C) 900, 28 D) 1800, 56 

17) 

Convert to logarithmic form. 
18) 35 = 243 

A) log 243 3 = 5 B) log 3 5 = 243 C) log 5 243 = 3 D) log 3 243 = 5 
18) 
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Answer Key 
Testname: MAT-064  MODULE 4 PRACTICE 

1) D
2) A
3) A
4) A
5) B
6) B
7) A
8) B
9) C

10) A
11) D
12) B
13) C
14) D
15) D
16) C
17) B
18) D
19) C
20) B
21) D
22) D 
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